= O

THM2E 56

P57l 5% B R i 2%

4

sk Bk %7$®¥Eﬁi COWTHEROEET, FF1Foil, A OiF2FoE, AlF3Fmjl, *iT4Fup LzHEETHRLELL,
% BIERES w5 BN O OHER, @REERA.
N ¥ 3
S0 24E 6240 (OK) L a8
” . WEE Y77y RR 1, 500m (A . . WsEE I RAWET X v 7 Fv Lo P 1,000
6 M @ WAERD 23 Tk B omm op e J2TLALR 200m (1) 6 M @ mEES T ki B omm a0t R e m O
(Hﬁ = GE i)
He @ 500,000 @ 100,000 @ 75, oooH @ 50,000l ® 25, 000 Hh @ 1,000,000 @ 200,000/ @ 150, (x%H @ 100,000 & 50, 00014

A B : e g B - . —— S 5 Ev A Al . e g B - . —— S i v A
& = % B 4 ME i e W OF B x T A PERS e {; FAL KR G = & = % B 4 ME i e W OF B x T A PERS e {; FAL KR G =
I 4 4 Tavx 42 54.0 HAY W77 X0 WP BT S h Sk 77— 4 434 -2 1406 39.6 1 1 2 2 FA4FyvT7— 4 2 54.0 ZHTEL FFIL 3L e f8)11F5 mkwkior A h—hvy—ha—dib—a> | 464 -2 1025 38.4 2
22 2 ARHZ—H—sUL 4k 2 54.0 fRER % W e K EFIE s FfOBE 462 0 1407 Y 40.1 5 2 1 1 ~NEIHVF $E 2 54.0 RS A REERS KK 2mE BEnT AR iR 472 0 1028 1Y% 38.8 4
388 vay 7—nA 4t 2 540 FHEL — b ETHS INF 2N A 454 0 1407 2t 40.0 T 333 ZUUFFRnm 42 54.0 TR 07907 77—n KNG worms F—L F7 v 7Hr8=— 402 -2 1030 1 38.8 3
4 5 5  FUU—RF—x— 4 2 54.0 e bf wEsr BE K AFISL H&Er dEE o Wl 450 -2 1421 7 40.7 4 4717 x=AJ)RAF A2 540 @B PE ORZ K HESPIE CERET ARRSA E A 462 -6 1030 7t 37.8 6
5 7 7 FarFarwi ik 2 540 A)NE W LEE K AT sorer 7 F 2 R 420 6 1430 4 41.0 6 5 6 6 bR 4— 4k 2 54.0 A& AR JIETE SR ek # 1 444 -4 1034 2 39.2 1
6 3 3 JIHT AT 4k 2 54.0 MIPE myceprRASILL Pk [H worser GBS 444 -2 1430 T X~ 41.2 8 6 8 9 IATY—RTU— ft 2 54.0 oL FeE BT NEM FET &) 402 4 1038 2 39.0 9
7101 2 54.0 AEE W i K NER worew N G 442 0 1432 1 41.8 2 78 8  HALER—A o2 54.0 FTETEE Zene BKE KX ARFNSL worow FEAS RN 430 -2 1042 2 38.8 7
8 6 6 2 54.0 BiiEE () POy NP ERT R A 434 -10 1434 1 41.6 3 8 4 4 FUrTTIur Ak 2 540 JELfE s K AFnsL morzeer J5t ISR 468 -6 1042 7t 38.8 8
= e Y T T T T T T T T T T T T T T TS 5 5  IALYYVFA— b 2 54.0  @EWDE P U K WARRE RN SEdERs 470 0 ekl 5
R4 Bos e e e e e

120 [ 2% 2% 180 [ 3% 8% 590 4 NS 310 [

520 4 2% 160 1 2% & 220 M 3% 3% 160 14

850 4 - 2 1,470

220 [ 4 — 8 810 4 2 — 8 1,460 [ — 5 1,150 [1

3,380 1 -1 2,210 [

o 8,420 M - 2 450 14 2 = 3 280 14 I = 3 510 14

7 1 12, 793, 400 M — 92 — 3 1,570 [
1a—g— 7.6 -1 — 3 8,000 [

2 a—F— ( N w5 25,497,200 H
3a—F)— (1,.5) . (3.6),7 (BETIE) 5% A YUy =B REE KIS O TEERAT I,
4a—F— 6. (1. 3) 3a—F— 1, 2, (3, 6) 9,4, 7,8
LRV 4F :40. 0 4a—F— (1. 2). 3. 9. 7. 8. 4
EAV4AF 50, 5 Lmn%F 38. 5
P o oA VI TLy FR 1,100m (44)
6 M @ BEES 260 X B KB R 2% RIFI X WMt Y77y R 1,000m (44)
(E =) 6 1 @ HEks 268 Kk & B B 3ﬁu|— c4—8
B4 0] 500,000 @ 100, 000 @ 75,000 @ 50,000 & 25, 000H4 (&
b D 300,000 @ 84,000 @ 63, oooH @ 42,000 ® 21, 000/
SRS g o4 w2 om = m o mew TR B s OA - : > : . = ,
A fi B4 SF % HEEI A R S B e LOA
13 3 H$7yafr H 2 54.0 AIME AN K NP ETERET A RECE 476 -2 1102 38.7 1 I & % " 5 i i {Hc 3F &
2 44 FUUTUF—Y 4 2 540 FR OB Ak K AT wobir A AK 500 0 1106 2 39.0 4 1 6 7 HrRea—71 43 52.0 A K Ak HE K BAPIE sorsr KR 2y b 418 -8 1023 37.9 2
3812 TAALE—ET 4 2 54.0 fRER% BPH EC K EEE soser RHAEGE 422 -4 11120 3 39.7 2 2 811 wUELRAb $t 5 56.0 R @REANES  INELG BENT B s 528 -24 1034 5 38.3 5
4 5 6 ay 7y $ 2 54.0 AER A mEE K EPIE SEERET 2T 2 85 4320 1113 %4 40.0 11 3810 Z7UxVT— 4 3 56.0 AR AR FIBL K AN BERT A RECE 532 -4 1040 3 39.1 1
5 5 5 h—2 o7 —4— 4t 2 54.0 HA%& b= R fex E wenbr BB 450 -12 1114 7t 40.2 5 433 ey FAY—7 4t 3 54.0 FAFE BEM Z00] T OHEIE AREIRT hA BRI 438 -2 1042 1 39.3 4
6 6 7 TUX—AX—=Z 4 2 540 ERE BEET 7 — o KR BEET AT 7 — A 418 -2 1116 Y 39.6 3 5 7 9  HNRLFARXF 4 3 56.0 JIRFR % AR JIETE BOERT B5H05 436 0 1043 Y5 39.4 3
T2 2 RAF¥—RIA 4 2 54.0 BiEgE L - K EZE AEET Al A0 436 -2 1120 2% 40.0 6 6 5 5 FILLArAR— 4 3 54.0 FATE RE WK KJIE BOERT AR R 424 2 1044 Y 38.8 6
8 710 =AY ERAAL 4t 2 54.0 WAL B R K R RIE JITET e 414 -4 1125 2% 40.3 10 7T 4 4 bvyszkrLrw 3 540 HEX R )\‘i EE FARE AEIT HiAET 7 — A 416 4 1045 Y5 39.0 7
9 6 8 ~FTITYLH— 4t 2 54.0 F¥F5: (F) MIRAT [UA#E BOERT v by 77 —Ah 434 2 1126 Y 39.9 12 8 1 1 ~RAhAyik 4 4 56.0 TSNS wcemynaerroy PSS BUHRT Bw /Ly R77—A4 468 0 1051 3 38.4 11
101 1 F7U—=%vr 4k 2 54.0 FERE Vel == —B0 I IRAR H BT RIS 424 2 1126 7t 39.7 7 9 2 2 JrAbyTHEALY 45 54.0 EEE RE AT K MNBL BEET SRk JE— 464 0 1051 7t 38.8 10
179 47“/«»—% 2 54.0 FAFE Rl SEEA B A masodier 2 b7y —nasRv—vay 504 2 1131 235 40.3 8 106 6 7—AYxuF o 4k 4 56.0 P kil B85 K MR RN T A A A T — A 476 -2 1052 Y5 38.7 8
12 8 11 2 54.0 DUHEE /R AR B #IER RN BT SR hitE 462 0 1138 3 41.0 8 11 7 8 A—S—%v /%5 B 5 56.0 BIRE R RS K AOE HENT PEE AR 462 -8 1053 /& 39.6 9
S OB MK 3% 1o[m LEe By oE 2000
100 [ 23 4% 140 [ 33 12% 110 [ % 140 [ 2% 1% 250 1 33 10 110 [
770 [ - 8 220 [1
780 [ — 11 2,850 [1
1,670 [ — 11 5,340 1
290 [1 3 — 12 150 [ 4 — 12 290 1 — 11 860 [1 7 — 10 160 7 10 — 11 350 1
— 12 530 1 — 10 — 11 1,210 [
— 12 3,700 [ — 11 — 10 11,660 [
7% 1% 15, 732, 000 [ 15 26, 526, 600 [
3a—F— ) LT, 10, 8,1, (9.11) 3a—F— . 10) ., 11,4, (5,8) .2, 6,
4 a—F— (4, 7) 10, 2, (9. 11).8,1 4 a—F— . 10), 11, (4,.5).8,2, (1. 6)
A 4T L0 3F 309, E2v 4 F FAY3F:37. 9
BIHE Y77y FR 1,000m (%)
3k I T Ly FR 1,200 6 M @ wERS 269 Kk 2 B B 3mMUE Cc4—7
6 M @ BEES 265 Kk B OEH B mome 12RO E% m o ’ ™
o o ® ® (€ &) @ 6 4 @ 300,000 @ 84,000 @ 63,000] @ 42,000/ & 21, 000/
4 300, 0001 84, 0001 63, 0001 42, 0001 21, 0001 . -

— . — =73 B kil 5 4 o 20 g BoOE g R B g e DA
EEE B o4 ww S om F m ox mee AR S Msanmm £ A o o Lt B cRillk’
I 7 % i 3F & 12 2 ©v=r7/—n & 3 54.0 TR v snr oo | R AT AR Sy 4520 =6 1019 37.6 2
1 4 4 HrF7Fa—b 4 3 54.0 BTEBHE W PETE B /NEFSE aworssr i) A 4122 1176 39.5 1 2 8 8 ExmFnA—7 43 54.0 HEE B BA K BRI TRl ke Ty — 24 468 2 1033 7 38.7 1
2 1 1  FA4Fva=~—2 # 3 56.0 WTH 5% 8 K AKX e 77— 500 0 1180 2 40.1 6 377 UgTE 44— B3 52,0 A fRER FE RE K NEFYE mores [ AR 498 -6 1043 5 39.7 6
36 6 A—=Tr7=7U— 4k 3 54.0 fIE KB PET K AOE BOERT i 38Kk 420 2 1186 3 40.3 4 4011 Loy A uN— By 3 56,0 VAL W) R NEREE woraer [ D 420 — 1044 %4 38.1 3
45 5 Yy A=—0UN7 k4 56.0 ANME MBS K ALSE PR e S 496 12 1187 %4 40.4 2 5 4 4 FAvhm—RUTY k3 56.0 TR A F K BREE Triili #hB 77 —2 434 4 1045 s 39.8 4
522 a7y 43 56.0 JeLfe R M K MREL wores BT 7 — 2 530 — 1192 2)5 40.8 3 6 6 6 XX/ xAHr 4k 3 56.0 BF LT M K EFIE worser R KB 462 4 1046 Y 39.0 8
677 &Kz b 456,00 EOEE HE M’“ K S BT 24— 7T — b 438 2 1197 2)F 4Ll 5 703 3 bxAfrmvayb b3 540  WFH =W OAE K KK T Ak 26 426 ~4 1055 4 39.9 9
733 vF/7¥¥S 4 3 54.0 i O MRS Av b RERR 3 420 6 1202 2)5 41.7 7 8 5 5 A RAMA 4 5 56.0 y 7 eSS JHET (Lm ek 478 -4 10567 1 39.6 5
T TogRe wg o a: T 001 T T T T T T T T T T T T T T T T TT 9 89 Trhu—3F 4t 3 54.0 KK HOET <) AR TF—T L 460 6 1059 %4 411 7

180 [ 2% 1% 0 e S T Y N
n T E 2% 10 [ 2% 8% 1o/ 3% E 350 4
80 4 — 6 240 1 1 — 6 1,730 [ -8 e E
Wk - i
= 17, 436,700 [ - ? o Zéggg 2 - 7 1,060 [ 7 — 8 1,140 [
3a—F)— 7 - 8 — 7 6,690 [
4m—F— 3 715 30, 162,900 [
LMD A4AF ;¢ 139. 7 3oa—)— 7.8) .9, (3 6) . 5. 1
43— — L 8) . 4, 9, 3. 1.5
A 4T EAD 3 F ¢ 37 6
el VI 7 Ly R 1, 500m (P4)
BAEES R TR WLl c4—
6 M @ BEER w6 chE & mE A BABE JRABET Ly vaFy Ly Uk 1,000m (44) 6 M @ RS 210 Kk A BPELE C4-5
WA e . .
DN A H AR Hy 2 B o i s 4 @ 300,000/ @ 84,000 @ 63,000 @ 42,000[ ® 21, 0001
527 R 2ms SRR m s ww S om = mox mew AETENS) e Woan e E) A
B @ 2,000,000 @ 400,000/ @ 300, oooH @ 200,000/ ® 100,000 TSV o3 56,0 T N AT KN B LER FTERRET 0215
s 05 B 4 e B e g oY B A R B e e BOOA 2 810 HrIF4UR 43 56.0 ESREAUN RIS N G ) =T 7 — A 474 0 1394 % 40.8 1
IR 2 i | _ LY 3F R 35 5 J—FAX— #t 4 56.0 AR TE (AR VS TAvBBr e niosmazie | 480 0 1398 2 41.2 8
L7 7 JARARZUER 4 2 54.0 FTECEE 7 7 — & A% AEHT #iE7 7 — 4 442 — 1027 38.0 8 4077 A F—) Bi 3 56.0 WFH LB kst K KK R ST 7 — A 514 2 1398 7 X~ 41.1 3
2 5 5 EvTIPATA 4 2 54.0  @IREE EEEE R GHReT i B 406 —— 1036 4 39.4 1 5 6 6 AEAT—2 R A 3 56,0 GIME W 20 K RIS woren ALY R 436 4 1402 2 40.5 2
3.8 9 NoAT v 7H—2 4 2 54.0 BIRE MW 2 K fxE T KA 428 — 1041 2)5 39.0 6 6 4 4  AFALE 4t 3 54.0 e o ST = - 1T N Elr=1 T LG T =l 476 8 1403 ZE 40.9 6
4 4 4 ~Fh7F 42 540 @RNE @=—FeTHE AIF BHIH 2— b e TR 438 ——— 1042 Y5 40.1 4 78 9 avAyYayt— fE 3 56.0 F B =M OB K BRANAL mormr T R 488 -2 1410 3 41.8 4
58 8 Tu—F47 4 2 54.0 HEEBA BR K LnE xvew SpHE 0H 406 — 1044 1 38.7 2 8 1 1 oy M4 52,0 A EK A TR KO seer A1 R 410 4 1417 3 42.0 9
6 3 3 TA=—=x 4 2 54.0 ERE AR AL K RAARRE soronr [HH A 412 — 1046 1 38.4 9 9 3 3 A—sS—t o4 56.0 BIE B B K WKEE AT EE AR 488 -4 1418 't 40.7 10
7011 FYsAVERA A2 540 B U3 35‘% B IR T S M 448 —— 1047 )% 39.6 5 10 7.8 ANFJva290Y 43 54.0 CUME sEk B PRRENE R SET Amens o kT os - 775 400 —4 1424 3 435 7
8 6 6 AX/FaFIA G 2 540 @UEASE M EE K @EPIE soses AR 428 —— 1049 %4 40.2 3 - imh BB m® im® -
> SL KI5 e o st — R4
,9,3,2,,,9,1,'7,'7,/,9,]:,jt,f,Sf'g,,@?ﬁjﬂ%fq,’,,,fi,i@‘fﬁ,f‘i‘ﬁ%‘,ﬁ% ,,,,,, LA e 25 10% uo M 3% 5 1,420 14
R4 6,600 [
570 [ 2% 5 140 H 3% 9% 170
3,000 4
3,290 [1 2 — 5 7,520 4 5 — 10 3,960 4
14,180 [
1,150 [ 7T -9 2,650 [ 5 — 9 390 1 o
5,130 [ %15
44,550 [ 1a—F— .3
e 18, 146, 200 [ 2 a—F— 9) . 6.
3a—F— 7. (1 8. 3., 2 3a—7— 1, 6) —3
4=a—F— (4, 7, (6 1,8, 2.3 4= — .8, 1,3
FEAVAF:50. 8  EMRV3F:3 6 EBDAF




SR 24E 6 H24H (K)

. . OB R ARGE F—AF ¥ L v 1, 000
6 M @ WEER 2 KE B OEH A RO R T a YL TOR m O
GE i)
Hl D 2,200,000/ @ 440,000 @ 330,000 @ 220,000 ®  110,000H . " _‘\ g 5 o,
FEE w on wwfE w7 m t mme pa— e 0 —BEBERT TEPEA (MY TVER) R
I & & ™ PR ™ > PRI ™ 3F &
18 8 ZnUrxad #2540 @EETE &% £7 K EPE @k h 454 6 1016 379 1 ES %S IEAE(10MEY) FiENGDOF v U —F—/3—
2 1 1 EATUEUSE— B2 54.0 FME wxcesn - oxzn FJIF R 28115085 484 0 1016 T 36.9 4 AR % ; ¥, N ) S —
35 5 wbshrar M o2 5.0 @EAE AN B K WSS ET S 7 LA K257 428 4 1021 235 38.2 5 Y AL UDES ik 9) REISDF ¥ V —A—/3
43 3  ZFLSRRA 42 540 N BT — KM AT AR 466 0 1022 Y% 36.9 8 10R 11R 12R 9,377H oM
5 2 2 huEnlXE 4k 2 54.0 Jh B AR BESR KX MRSl AR KRR 442 -2 1023 7 37.4 6 - - - 3050 0
6 4 4 Fo%av ko407 4 2 540 @FENE AF & K )T KT U LT A—T77—2A 460 6 1030 3 38.1 2 @ @ @ @ @ ( ) i
T T AT T 42 54.0 FTEEE ()7 7 > RS AT wormr 75 RGE 474 16 1031 7t 39.4 7
8 6 6 IFLyFa Ho2 54.0 @RS OV MU K Vex R ERT Yoy oA M 506 -4 1031 2t 39.6 3 % 6 IEIFII%%U%%}% (2 H E) E‘Z/%%i%
T HEe B s® 0 0@ T oo oo mom e — —
8% 120 14 2 1% 200 4 3% 5% 210 4 A A iH
-8 vEe Al AR K H B i Bk B A e o
ol - 3 I W1 - s 1,070 19 W MR B ke | EEE S PIGER | & A |(EEk AR T T
-1 — 5 10,920 [ = O EEN [€7))
% fF 43,729,300 M 6/23 i 39, 643,500 24, 931, 000 3,313, 700
3a—)— ) .5, 1,2, 4,3 1 X Eﬁ 29, 371, 900 36, 836, 000 35, 532, 800 372,969, 150 11 98 0 6, 585, 000
s [ (2. 4). 3 49,904, 600 149, 007, 700 4, 427, 950
. . 6/24 = 47, 156, 300 32, 528, 100 5, 608, 900
2|k E 36, 623, 600 41, 281, 000 45, 788,600| 442, 747,670| 12| 113 0| 13,365,000
61, 520, 400 168, 154, 800 4, 085, 970
. WIOFEAE v 7 TR 1, 800
oM @ wERs e kg omomm r o0 JIOVTR same cio2 czoa moy
(& &)
B4 ® 450,000 @ 90, 000 ® 68,000 @ 45,000 ® 22, 000H4
A B : y aw o . = SR iR N AN
i = B 4 M i r W T 5 F GLE2 G APER S FEENE - 3F &
1 4 4 Fr7UFa—)L f 4 56.0 FBEE SBE 2 K AT TR mEs 448 -2 1595 40.6 1
2 8 8 AFL—FFLAm By T 56.0 SRR Ve IERE B /NEE soseer [ B 452 0 2001 3 413 3 - gg’ ;gg’ 288 % i‘??' égg 8? gg? 288 815 716.820] 23| 2 ol 19 950 000
36 6 NRARFUZ $t 6 56.0 B P B K ML Tk AT 7 — A 506 -4 2001 74~ 40.2 2 f 111 425 0001 317 162 500 3515 920 15, 716, 1 19, )
43 3 ¥H¥HrT7—H 4 5 54.0 £|4< (PN B WORNT 2R PRE 476 0 2005 2 40.9 8 > > > >
5 1 1 AEU7 4t 6 54.0 WaX W7 o747 IR BElr RSt RV %Y 484 0 2006 7 B 40.3 9
6 717 UHF Uy 44 56.0 Eh’%% ANER FRE K AR worem J5 G2 514 -2 2010 2 4L.1 7
789 bv—t—7LAFr 4 4 56.0 EIRE BOR TERE KK MA@ BRIl 438 -6 2010 T 42.0 4
8 2 2 ~FatbtFa 4 4 54.0 AR R K @K@%E AT 2RO 486 2 2013 1) 41.7 6
9 5 5  A—=—=7L—1 4}k 10 56.0 I Ml T K R NE A& @) E PR 500 -2 2019 3 42.0 5
”””””””””””” 2100 T e
110 [ 2% 8% 150 [ 3% 6% 130
310 [
550 4
940 [
230 [ 4 — 6 160 [ 6 — 8 380 4
580 4
2,710 [
4 39, 692, 500 [
1a—)— 6, 5—1
2a—J— —1
3a—F— (7, 5) .1
43— — 6, (1.,7).5
EBDAF 40. 7
. gL 7V R 1, 200
6 M @ kRS 213 K B OBH R B #3;1/2#1#? 3l C1-2 Cc2—1 mo
(& &)
B4 ® 450,000 @ 90, 000 ® 68,000 @ 45,000 ® 22, 000H4
A B . ’ A " . = SR iR N AN
G = B 4 M i e W T B E GLE2 G A PER S LEENE - 3F &
16 7 ~U—rUr 4t 4 54.0 FNE Zh a0 A worear 7 F 2 RS 510 2 1156 38.7 1
2 5 5 YaxU—TAR 4 6 54.0 %#(i (A I AERT hm s 448 2 1162 3 39.0 3
379 TeAgUES ft 6 54.0 AR R B K RIA B&EET ATV 7 7 —A 430 2 1167 2)5 38.7 5
4 1 1 BT TN T 47 54.0 F[ErhE b ERE K NP BT B R 464 0 1167 ) 39.0 2
5 3 3 A=A TIAT 4 4 56.0 fRES% A R ok K MEE BEE KRN 482 -10 1168 Y5 38.2 6
6 4 4 ALF—T=xzAFa 403 52.0 A RFEK vrooreereeom JIEHE BOERT & VS 444 -6 1170 1 39.6 4
778 dr=vtk ft 6 54.0 R AL RiER K BOREL EPT ) — Ty — A 424 -2 1178 4 39.8 9
8 6 6 FALTA=~A Bi 4 56.0 I A AL B /NERE wores T 7 — A 452 4 1180 1 40.0 8
9 8 1077 v¥%— #t 3 56.0 AEE O O K R BT Yoy A U 480 8 1184 2 40.4 7
102 2 =xT—=a—avl 4 7 540 jﬁ—& B ER K B wi 486 -4 1189 23 39.9 10
11 811 vA45= 3 54.0 R i K 406 2 1213 KFE 43.9 11
T REe WR O s uom oo
110 [ 2% 5% 240 1 3% 9% 380 1
i 660 [
] 680 [
a4 650 [
i 260 1 7T — 9 550 [ 5 — 9 2,680 1
i 9 2,570 [
9 5,090 1
e B & HE 67, 420, 600 [
GRMIERSN) 113 U4 7 =B1dpiEhE NmfﬁTA#otmf7ﬂ16HmeiT§aw
3a—J)— 7.5, (4, 11) .1, (9, 10) .6, 8, 3,
4a—J)— 7.565,.4, 1,9, (6,8).3, (10, 11>\2
MV 4AF 51, 5 FRD3F:38. 7
1288 A IBC 1,200
6 M @ BUEES 274 Kfk & 55 i xﬁ?tg(f?{‘t\ F— Lgf =R m
$+ﬂ(£)\JBCTi§J KR (1 FEERS)
(2‘ vavR—7—%) R
w(‘j/ﬂv)/k\% 3Ll C1—-2 Cc2-1
A
Hh @ 450,000/ @ 90,000 @ 68,06%|—'—J @ 45,000  ® 22, 00014
Rt ) Al o S =3 R e ESURUN
B ® ® B 4 riwiﬂ B F B x T A PERS e {; LEENE - 3F &
1 55 ~AvxAhA 4 5 540 HIGE P L 1K AARZE AT SN 458 -2 1150 38.9 3
277 ARy=— 4t 6 54.0 ISP ACIRDEVES < R F e P I R ORI e 478 2 1156 3 39.1 1
3 6 6 ATV =~ E— H T 56.0 RGBS W77 v r 2 b o7 JNBPEE SEHRINT A 514 2 1161 2} 38.4 2
4 1 1 7yZby¥Fr—r B 5 56.0 Fper SEH B K HHPIE A &E Y0 T 420 0 1164 1) 39.1 8
5 810 Z7rur47 4 8 56.0 e M E B K AR BERT IR0 482 -4 1170 3 39.7 4
6 8 9 E—E—Yw kb4 540 A PECK NG R S /NERE SEIRET SRS 504 -2 1174 2 40.7 7
73 3  FAYyrEwAz 4k 5 56.0 WTFH A sk K FREKR 2T ) —HFr 77 —a 494 -2 1175 7t 39.5 9
8 2 2 BvavsxyYy B 3 56.0 F)IE g B K AR BERT v v o B 450 19 1176 Y5 40.9 6
9 7 8 n—RKY LAz 4 4 56.0 FNE GER BME K NP RREIET R AR 504 -8 1185 4 40.5 5
104 4 7a0%~_F50Y7 4b 4 54.0 R g RA K ﬁ‘;ﬁ\ﬂt o N AR 464 4 1202 8  42.0 10
N A
5% 170 [ 2 & 130 [ 3% 6% 120 [
-7 620 1
-7 640 1
-7 1,880 [
-7 280 1 5 — 6 340 1 6 — 7 190 [
3 -6 — 7 550 1
i -7 — 6 4,270 [
& H 113, 786, 400 [1]
5. 7. 9) . 1. 10, 6, 3. (8. 4)
5. 7. L9) . (1.6,10). (3.8). 4
RNV AF 51, 4 RV 3F 38, 9




